@ Essential Question
o How do you use exponents To represent NUmpers?
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Let's Try iT Together.
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The value of any NoNzero number
raised To the power of Ois equal ol

Here are different ways we con read exponents out loud Z
0% saya_squosed wor S
"d 7o the 2™ power Squared| <
|25
73 say'7 coed or
710 the ™ power” 5
™ ,
8" Say "8 To the 4 power"
, o Cubed
4’ say 1o the ~=_power =
SIS
power of Zero Power of One
]
7
/
7

P T R T e P P PR P P T e P T P PP P P T P P P PR P P 4
rO’O’O’O‘O’0’O’O’O’0.0"0’0‘0’0’0’O’O’0’0’0‘0‘0’0’0’0‘0’0’0’0’“
Select all the expressions that are equal  Select all the expressions tzhat are
to 64. equivalent to é—?. — :t_ _
22 22 2 - q
@ 2° ®(3) <) g 3,_'
(§)2 \} z
@8 DBDrB=GY 2 2‘4 3
2 Y — pm—
©¢ 4.y .44y @G =3F
3 4y
@ LZ. ’232_. 2_. 2”‘206} ® (§) = L_\a-z
3 4\
®+ \4xdx4 ® (3)

|


schraderk
Pencil


Name: Date:

AAAAA
NAAAAA ORDER OF OPERATIONS

GUIDED NOTES

IMNMPORTANT VOCABULARY"
Numerical 9xpression: contains only num[ocrs and

_D% \onS .
Evaluate: to find the VU&U& of a numerical expression.
( a\So Knopn os sion p\ |r\g\\

ORDER OF OPERATIONS T dd
1. When evaluating a numerical expreSS|on be sure to follow
the _( )ﬂe{ of

2. The order of operations makes sure that answers are
Consis$¥ent .

3. The order of operoﬂons tells the O\‘O\EA‘ to complete
each C oL

3 ORDER OF OPERATIONS: PE MDAs

1. Perform operohons inPacenthes S or
G [ e]V] ?"'\5 Sumbhol
2.  Evaluate numbers with Exporent s
3. Mult p\U\ or D(\I\ e from left to right

GUIDED PRACTICE

?‘l Evaluate the expressmn below: Evaluate the expression below: .0
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Evaluate each expression. PRACTICE PROBLEMS
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#7 Tickets fo the County Fair cost $12 for each adult and $7 for each child. Write
and evaluate an expression fo find the cost for 3 adulis and 6 children.
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Select the correct answer for each question.

1. Which operation would you
complete first when evaluating the
numerical expression?

14 =2x54+6-1

a) Division
b) Mulfiplication
c) Addition

d) Subftraction

3. Evaluate the expression:

154+ 15 =3 x2
a) 20

b? 2 I1S+Sx2
d)

IS+ /o
5. Evaluate the expression:
15+ (25—6 % 2)+ 32

al 45 2S-—= 12
@S 15013+ 32
c) 80 284’32
d) 85

Lo

2. Which operation would you
complete first when evaluating the
numerical expression?
(7—3)°%x3+2

a) Exponents

b) Multiplication

c) Addition

d)(Sub’rrc:cﬂorD

4. Evaluate the expression:
22—-18+2 %3
N—

22-18 + 0
c) 20 —~——

H+6

6. select(each ‘expression where
you would muUltiply first.

a) 12+3x4 —5

b) 45 +3x2 —2

c) (15x3)—6x5

d) 35+ (6+2x3)-3

e) 45 —(15 +3x3)+2

a) 6

Answer the question below. Be sure to show all of your work.
/. Everly is going back to school shopping. She purchases 4 notebooks, 3
packs of pencils and é folders. Write and evaluate a numerical
expression to find out how much money she spent on school supplies.

SUPPLY COST
Packs of pencils $4 per pack
Folders $2 each
Notebooks $5 each
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